124

roe

712 &

o1 4= [153)
_[124 "l
. [22 34}, 2(4+2B)= [22 34]
2 2 _ 11_14] owe
]’ A+ 2AB+ B*= [119 el

03. (a+n7 =2 9,
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7.2 EHAZA

r

02. detA =4, detB=—2

03. (ABO) ' = [_75 —229]’ gl [_75 —2:;9]

1

04, A7'=—|=612 —8}, Bo| A2 EASHA] =

[11—6 4
4 8 16
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01. (AA)

02. (@) z, =16, z, =11 (b) z, =12, z, =14, z, =11

03. (a) i F43] Wt (b) = ESHA] Qh=rt.
04, (a) k=094 @ z, =2,=0 (b) k=0, 9



742 &
()
29 B :
- xl_?’ Ty =— 8’ $3=_?
(b) 1'1:2, 31'2:5’ x3:6
() zy=1, 2y,=3, x3=—2, v, =4
(d) x1:2’ x2:3’ 333:5, w4:7
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01. 30

import numpy as np
A = np.zeros((3,2))

sum = 0
for i in range(1,4):

for j in range(1,3):

Afi-1][j-1] = i+2* # Python2

sum =
print("A=", A)

print("sum=", sum)

02. =6, y=1

10—19 28}

2 =814 (b)

03. (a) [

import numpy as np

# (a)
A = np.array([[1,3,5],

B = np.array([[ 1,-4, 7],
[_21 51_8]1

print("AB=",np.dot(A,B))
# (b)

A = np.array([[1],

B = np.array([[4,5,6]])
print("AB=",np.dot(A,B))

sum + A[i-1][j-1]

8 1012
121518

456}

(3.2,11])

[ 3.-6, 9])

(2],
(31)

ol
— 1

270 0FE AlEQ



04. (a) (A3l)  (b) (&) (c) (AR

import sympy as sp

a = sp.Symbol(‘a’)
b = sp.Symbol('b')
¢ = sp.Symbol('c’)
d = sp.Symbol('d")

A = sp.Matrix([[a,b],[c,d]])
| = sp.Matrix([[1,0],[0,1]])

print("A”2-(a+d)A+(ad-bc)l=", sp.simplify(A**2-(a+d)*A+(a*d-b*c)*1))

06. AJ=k
1000
0=0 0
L [6—1214
07. (@) A" '==10 3 —6 (b) B '= 0o Lo
00 2
1
000 7]

import numpy as np

# (a)
A = np.array([[1,3,5],
[3.2,11])
B = np.array([[ 1,-4, 7],
[-2, 5,-8],
[ 3.-6, 9]

print("AB=",np.dot(A,B))



# (b)
A = np.array([[1],
[2],
[31)
B = np.array([[4,5,6]])
print("AB=",np.dot(A,B))

08 A 2020 P~ IBZOQOP

09. k=—1, 9

10, |2]

11. 8=

12. 8%

3 1,5

14, 128

15. 1: 152 +11y—25=0



